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2N

SIS dH

M SMA)IBRE
& sYll=dg 22l 29 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Al 7,500
04 JI2ZtHZ22 a2+ 15,000 13,000 2,000
OELHFAY 29d JIZHM2I2X 15,000
= 7,500
Al 7,500
201 ¢er24l 2,500 3,000 A 500
= 1,250
Al 1,250
01 At22t2l bl 2,500 3,000 A 500
OELZEEY 2E=E3 78 2,500
= 1,250
Al 1,250
202 044l 2,500 3,000 A 500
= 1,250
Al 1,250
01 SLHOYI 2,500 3,000 A 500
OEAZE AMElH & UstEsus ot 2,500
= 1,250
Al 1,250
BEASEHT NUlA 7,000 7,000 0
405 XtatE SHI 7,000 7,000 0
01 At ESFH S 7,000 7,000 0
oSt sAlE FHl ¢ 3,500,000& 25 7,000
sg GEtgsa s 29 1,400 1,400 0
= 700
Al 700
201 ¢et24] 1,400 1,400 0
= 700
Al 700
01 At 22l 1,400 1,400 0
O=sg tetgsa2s Nl 1,400
= 700
Al 700
S¥I=NEEgsSkA 8,000 0 8,000
= 4,000
Al 4,000
202 044l 8,000 0 8,000
= 4,000
Al 4,000
01 SLHOYI 8,000 0 8,000
O uW=s, FRAES, EItg FS 0| 8,000
= 4,000
Al 4,000
EYAZY 2Y 1,616 0 1,616
J| 1,616
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SA: sYIEME
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ool s EME el 2Y

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
206 M= Hl 1,616 0 1,616
| 1,616
01 = Hl 1,616 0 1,616
O . ZASEMIEH E2E At 1,616
J| 1,616
sZJl=sdyH 222 M 5,000 5,000 0
201 Let24d] 5,000 5,000 0
01 At 22l 5,000 5,000 0
O=sgllsdH E22 M 5,000
SdgRsdzs N 9,000 9,600 A 600
204 M= F | 9,000 9,600 A 600
03 EZ YA 9,000 9,600 A 600
O asl 50,000& 15 =128 9,000
SIOIH LA 1,020,000 0 1,020,000
= 500,000
Al 520,000
401 Al& Bl & 28I 320,000 0 320,000
= 150,000
Al 170,000
01 A& HI 320,000 0 320,000
OsSIIHUAE 320,000
= 150,000
Al 170,000
405 TtHakH S| 700,000 0 700,000
= 350,000
Al 350,000
01 AL EFH S 700,000 0 700,000
OsIIHS ALY 700,000
= 350,000
Al 350,000
dE2sgosd 128,725 191,725 A 63,000
= 5,600
< 18,392
Al 104,733
HEINLE SAHAY 5,000 10,000 25,000
307 gl2tol & 5,000 10,000 25,000
02 BIZHEANEXS 5,000 10,000 25,000
O3usE & ASXA 5,000
HFAl 4-Hal 4 10,000 20,000 A 10,000
307 glz2tol & 10,000 20,000 A 10,000
02 RIZHENEXS 10,000 20,000 A 10,000
O3Fus ¥ AAXH 10,000
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sgelo g XA 26,000 26,000 0
203 R =&l 1,000 1,000 0
03 A F=X AR =AY 1,000 1,000 0
Osgoo ¥ XA 1,000
307 21201 A 25,000 25,000 0
02 QIAHFAEXS 25,000 25,000 0
O=sgole ¢ XA 25,000
4H 32X 22 1,334 1,334 0
< 400
Al 934
201 Let249] 1,334 1,334 0
< 400
Al 934
01 At 22l 1,334 1,334 0
O4-H EEX 2= 111, 1662 1201 & 1,334
< 400
Al 934
sEXNER BE2X 2= 12,191 12,191 0
= 3,292
Al 8,899
201 Let24] 12,191 12,191 0
< 3,292
Al 8,899
01 At 22l 12,191 12,191 0
O=ZXNEA BE2X 22 1,015,910 1204 & 12,191
< 3,292
Al 8,899
SEXNZHELS K& 6,000 6,000 0
< 1,800
Al 4,200
307 21201 A 6,000 6,000 0
< 1,800
Al 4,200
02 B AEXS 6,000 6,000 0
OsEXNEX 43 X&  6,000,000& =14 2l 6,000
< 1,800
Al 4,200
Stuw4-HIbM &sX& 2,000 2,000 0
< 600
Al 1,400
307 gl2tol & 2,000 2,000 0
< 600
Al 1,400
02 RIZHENEXS 2,000 2,000 0
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Al 1,400
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Al 1,400
301 L2 A3 2,000 2,000 0
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Al 1,400
09 HALAHIEA S 2,000 2,000 0
OYs4-HE LS RS 2,000,008 *1H A 2,000
< 600
Al 1,400
=28 sgo g2y 84 13,000 17,000 A 4,000
= 4,000
< 1,500
Al 7,500
201 L2l 8,000 12,000 A 4,000
2 4,000
Al 4,000
01 At 22l 8,000 12,000 A 4,000
OF=E=g0 A2 |4 8,000
= 4,000
Al 4,000
301 YA 5,000 5,000 0
< 1,500
Al 3,500
09 HALAHIEA S 5,000 5,000 0
Os=2g8=d0 A2 |4 500,000 102 5,000
< 1,500
Al 3,500
SENS XS 6,000 6,000 0
= 1,800
Al 4,200
307 21201 A 6,000 6,000 0
< 1,800
Al 4,200
02 QIZtFAE XS 6,000 6,000 0
OsEXNEX U3l 6,000
< 1,800
Al 4,200
4-H HU=E 1,600 1,600 0
= 800
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301 L2 A S 1,600 1,600 0
= 800
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el solol S X EERED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 &AL HI B2 &S 12,000 8,500 3,500
Osgoliis sgeld2u=s 12,000
= 6,000
Al 6,000
sIHESE ALY 34,000 9,000 25,000
2 17,000
Al 17,000
201 Let24dy] 1,500 0 1,500
= 750
Al 750
01 At 22/l 1,500 0 1,500
O=sJIH sdu=s 1,500
= 750
Al 750
301 et d =S 2,500 3,000 A 500
= 1,250
Al 1,250
09 HALAHIE& S 2,500 3,000 A 500
O=JIH ns & 2,500
= 1,250
Al 1,250
405 Xt&tE SHI 30,000 6,000 24,000
= 15,000
Al 15,000
01 AL EFH S 30,000 6,000 24,000
OslIdnEsdE sJIH ¢ 30,000
2 15,000
Al 15,000
SEMEHS X 132,600 188,600 56,000
< 49,220
Al 83,380
NMHOS seolod I EsA X 5,000 5,000 0
= 1,500
Al 3,500
307 gl2tol & 5,000 5,000 0
< 1,500
Al 3,500
02 QIZtFAEX= 5,000 5,000 0
OMANE AL I B S 5,000
< 1,500
Al 3,500
Hd=sgel s 4,000 4,000 0
201 Lt 3,000 2,000 1,000
01 At 22l 3,000 2,000 1,000
O ZA=&E & WM S 3,000
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 et A= 1,000 2,000 A 1,000
09 SHAIAHI B A2 1,000 2,000 A 1,000
O WAL AHBA 1,000
ME) s WMUES 6,000 6,000 0
201 et 1,500 1,500 0
01 AP 2t 2| H| 1,500 1,500 0
O ZA=2 L DM S 1,500
206 M EHl 1,500 1,500 0
01 =4l 1,500 1,500 0
O WE=X MH=dl 1,500
301 et A= 3,000 3,000 0
09 HAIAHIBEAZ 3,000 3,000 0
O EHAX B4 3,000
HeEsg 32X 23 3,600 3,600 0
=} 720
Al 2,880
201 et 3,600 3,600 0
= 720
Al 2,880
01 AR 2t2l ] 3,600 3,600 0
OE=Y AEX =22 300,000 1201 & 3,600
& 720
Al 2,880
&dF 34 0240 29 10,000 10,000 0
201 Bt 7,000 7,000 0
01 AP 22| H| 7,000 7,000 0
O ZAI=g L DM S 7,000
206 M = dl 3,000 3,000 0
01 X2 Hl 3,000 3,000 0
OF= 2A o2td0l 29 3,000
A e HEI=XE 40,000 0 40,000
=} 15,000
Al 25,000
402 SI2FXHE0| ™ 40,000 0 40,000
= 15,000
Al 25,000
01 QI2tXE8 X 40,000 0 40,000
OALATHE JIZ2EHIAA 40,000
& 15,000
Al 25,000
DEIJIDIXAS JIIEII=HeY XA 64,000 80,000 A 16,000
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[ 32,000
Al 32,000
307 gizto| A 64,000 80,000 A 16,000
= 32,000
Al 32,000
02 AAtAMNEBEXZ 64,000 80,000 A 16,000
Os4&E JIBJls € AIMS e 64,000
& 32,000
Al 32,000
MetAdsgsd NE 646,900 859,000 A212,100
= 6,450
Al 640,450
H Mg QEAME R 150,000 200,000 A 50,000
402 SI2vXHE0| ™ 150,000 200,000 A 50,000
01 812t X 150,000 200,000 A 50,000
OH Mg PEHAMAE XA 150,000
X&EHd s I8 E XN 200,000 130,000 70,000
402 BI2H X 20| M 200,000 130,000 70,000
01 QI2t X2 X 200,000 130,000 70,000
OX&tH s RII&EHE XN 200,000
ZULI=2Z2 MOi=JF Matd] XIS 100,000 100,000 0
402 SI2FXHE0| & 100,000 100,000 0
01 QI2t X2 X 100,000 100,000 0
O Z2U=22 MU= Matd] K&
1,000,000 x100ha 100,000
HE B35 2SN SAHU NS 100,000 100,000 0
402 SI2FXHE0| M 100,000 100,000 0
01 QI2t X2 X 100,000 100,000 0
O H & g =s S 2LUH NS 100,000
SeliM bl Mg A" 14,000 14,000 0
402 SI2v X0l & 14,000 14,000 0
01 Q228 X 14,000 14,000 0
OECcIUH ZLRHE M AlHY 14,000
Hols SEXE J=X&E 11,400 32,000 A 20,600
= 5,700
Al 5,700
402 SI2t 20| ™ 11,400 32,000 A 20,600
= 5,700
Al 5,700
01 QI2tXEE X 11,400 32,000 A 20,600
OdolE =& JsXH 11,400
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ST PN
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202 o4dl 1,480 920 560
= 1,480
01 = LH o4 1l 1,480 920 560
Osd23 ASTA 24 1,480
= 1,480
301 L2 A Z 2,960 ,840 1,120
= 2,960
MIEE43 2,960 ,840 1,120
OsdE8 ASITA 24 2,960
= 2,960
A9 sl 325 A 10,000 ,000 0
= 5,000
Al 5,000
101 14 Hl 10,000 ,000 0
= 5,000
Al 5,000
04 JIZHHZ22XRHEES 10,000 ,000 0
OXNYEs sgIlI=d323s XA 10,000
= 5,000
Al 5,000
JIUH=4 otRAEE B2 50,000 ,000 0
402 2I2H X201 M 50,000 ,000 0
01 RIZEAt 22X 50,000 ,000 0
O FJIUW=4 otA 28 XX
17,857 ,000& 4K 2~ %70/ 100 50,000
SR=sI OtEE=2A4 38 X 100,000 ,000 30,000
402 RI2FX=201 M 100,000 ,000 30,000
01 2I2tRE2E X 100,000 ,000 30,000
Ostdl=sI CtaE2Aa38 AX 100,000
SUHEXXA 840 990 A 150
< 280
Al 560
402 RIZEX201 ™ 840 990 A 150
< 280
Al 560
01 RIZEAI 22X 840 990 A 150
ozl 2N 840
= 280
Al 560
=PIl =¥ 3,000 3,000 0
= 1,500
Al 1,500
201 Let24d] 2,000 0 2,000
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sJl=dd
Sgdargra=
SHASHLRH

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

Al 8,600

01 At 22l 17,200 25,000 A7,800
OLars NAZE A 17,200
= 8,600
Al 8,600

202 O4dl 4,000 4,000 0
2 2,000
Al 2,000

01 = LH 4 Hi 4,000 4,000 0
oo & BIXIoHY Ol 4,000
= 2,000
Al 2,000

301 et A= 7,400 19,000 A 11,600
= 3,700
Al 3,700

09 &AL HI B &S 7,400 16,000 A 8,600
Oou=s & "Hitsl s FHAK B3 7,400
= 3,700
Al 3,700

307 21201 A 21,600 0 21,600
= 10,800
Al 10,800

02 RIZHEANEXS 21,600 0 21,600
OZars NAZEY ALY 21,600
2 10,800
Al 10,800

405 RHoHE S HI 5,400 8,000 A 2,600
= 2,700
Al 2,700

01 et EFSFHSHI 5,400 8,000 A 2,600
OZdAis KNIAZ2LAE NF EH 2 5,400
= 2,700
Al 2,700

EZRE Midl= AMEEX 84 54,752 54,752 0
= 27,376
Al 27,376

402 RIZ2EXt20l 54,752 54,752 0
= 27,376
Al 27,376

01 IZERr 22X 54,752 54,752 0
OEIZRE MAJl& AMEHX 4 54,752
= 27,376
Al 27,376

nAas s 54 200,000 200,000 0
& 100,000
Al 100,000




AN sg€II=4dH
Ha: SN RS
el SASHYRE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 RI2EX20l A 200,000 200,000 0
& 100,000
Al 100,000
01 RIZEAt2E X 200,000 200,000 0
ORE HESIRE 8 I N2 MAI|I= Y
E 100,000, 000& 14 A 100,000
& 50,000
Al 50,000
O8I N2 F=2 0188 DRI WS
2 USSS MY 100,000,000 * 100 A 100,000
& 50,000
Al 50,000
Hue? 23sE MOAY 200,000 0 200,000
& 100,000
Al 100,000
402 RI2EX=20| A 200,000 0 200,000
& 100,000
Al 100,000
01 RIZEAt2E X 200,000 0 200,000
OXFHH BYHALS 200,000
& 100,000
Al 100,000
It SEY HOl ZH E=2 50,000 50,000 0
402 RIZ2EXt20l 50,000 50,000 0
01 IZEAI 22X 50,000 50,000 0
O ==Y HOIEH 23
5,000, 000& *20CH *50/100 50,000
Jlsd B =X XA 50,000 50,000 0
402 BIZEX201 ™ 50,000 50,000 0
01 RIZERt2E X 50,000 50,000 0
OJIsd Sk XEAY 5,000,000& *10& 50,000
Mz AIES 288 REFTIR M4 26,400 26,400 0
< 9,900
Al 16,500
402 RI2HXt20l ™ 26,400 26,400 0
< 9,900
Al 16,500
01 IZERI 22X 26,400 26,400 0
ONPIZA AMS BE8E 2FTIR MY
26,400,000 =100 2 26,400
< 9,900
Al 16,500
ANEGH2A MBI XJAY 40,000 40,000 0
402 RIZ2HXt20l ™ 40,000 40,000 0
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AN sg€II=4dH
Ha: SN RS
el SASHYRE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 20,000
402 RIZEX201 ™ 32,000 0 32,000
< 12,000
Al 20,000
01 RIZERI2EX 32,000 0 32,000
O=dzsts & 54 32,000
< 12,000
Al 20,000
e AL SELHI=AE 8,000 0 8,000
= 3,000
Al 5,000
402 RI2HX20| ™ 8,000 0 8,000
= 3,000
Al 5,000
01 2I2tR2E X 8,000 0 8,000
OTESBANEME SLH 8,000
< 3,000
Al 5,000
=4 =4 N& 111,000 102,000 9,000
< 10,000
Al 101,000
s gdst N 30,000 30,000 0
402 2I2H X201 M 30,000 30,000 0
01 RIZEAt=2E X 30,000 30,000 0
O F=2sd 29 JIBAIE 30,000
NsHa -3 34,000 50,000 A 16,000
201 Lt 9,000 9,000 0
01 At 22l 9,000 9,000 0
OEAN=sSELSIA 9,000
206 = Hl 15,000 15,000 0
01 MHZ 4l 15,000 15,000 0
O AN=sgEads2d 1,000,000& »153] 15,000
301 et d=s 10,000 10,000 0
09 SALAHIEA S 10,000 10,000 0
OEANsHELdBLZ XNH
1,000,000& 102l 10,000
sty HE X4 2ds N2 22,000 22,000 0
402 RI2EX20| ™ 22,000 22,000 0
01 BIZEAt=2 82 X 22,000 22,000 0
Ostn SHE JIEtAlA 22,000
ANsIIEtR =AY 25,000 0 25,000
< 10,000
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2N
X ZH -
L= B

el

SRR
SO M AR E
TASY S8 Y

S B G(SA) - NRANY - BES il 2
Al 15,000
402 212t X201 & 25,000 0 25,
= 10,000
Al 15,000
01 RIZERI2EX 25,000 0 25,
O ANsgIe2= 25,000
< 10,000
Al 15,000
HE2LAZH (s IIsdH) 1,066,269 1,013,106 53,
A2IH(=sIIsdH) 987,493 928,330 59,
2 (sglI=dH) 987,493 928,330 59,
101 @14l 956,953 897,790 59,
01 2= 956,953 897,790 59,
OJles 664,204
Q=2 (185 8) 3,852,700 x1H«12& 46,233
@72 (205 3) 2,719,500& x2H x 123 65,268
@ X = AH(23E E) 2,928, 100& x 13 «12& 456,784
@JIs7= (245 8) 2,881,400& x1Hx123 34,577
[ DS Falls] 602,860,800& *1.7% 10,249
0ZE2+E 51,092,453& x100% 51,093
= & 188,902
@I=E+4 14,760
—tH < Xt 40,0002 x16H 12 7,680
-RYNE 20,0003 x25H « 123 6,000
-JHA S (AURHOF Ol &) 30,000 x3F 128 1,080
@OHEHEES+L(DSst)
372,600& x4 H x43| 5,962
QI 2GS (FIIHMSEE) 23,400
-25 0] &f 130,000& »8&H x12& 12,480
-204@ 0l &F 25 0] &t 110,000 x3H «12& 3,960
-15E 01 & 20 0] &t 80,0003 «3H 12 2,880
-10@ 0l & 150 8t 60,000 «4H 128 2,880
-58 04 1040 & 50,000 «2H 122 1,200
OUHRSRE=E 32,514
-Jls73 2,976,200 »1H +4 1%+ 12 1,465
=Xl & Ak 3,100, 100& x20H 4 1%+ 122 30,505
-X 2 & HI 31,969,274 1. 7% 544
Q=3 ESE 10,440
-A ez 60,000 «1H « 122 720
—XI & A 50,0003 x13F «12& 7,800
“JHAEZ (I A 50,000 «1H « 128 600
-Jt&EZ (1AL 30,000 x3H «12& 1,080
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ZH (s sHH)
Hl(sel=HE)

E - G2 (3) - A - BES il HlnE2
“JbAE 3 (&FE DAL 20,0003 1 ~122 240
QLSRR & 2 L A2+ 6,600
=) 50,000 *1H «12& 600
-Jtek=a 500,000 «1H 128 6,000
OREZR+E 1,560
-3 50,0003 <1 «12& 600
22 40,0003 =2H x12& 960
QA2 RE 93,666
-N ez 11,3643 »1H x50A| 2t +12& 6,819
-7= 8, 7543 x2F x50Al 2tx12& 10,505
-KI & A 9,692& x13H x50 2t 12& 75,598
RSP okl 92,920,800& *0.8% 744
OF UG A 130,000& x16H »12& 24,960
OHEF Y| 51,092,453 & »60%*23] 61,311
O A It 4| 51,092,453 2 *86%/30% 12 17,576
204 AR HH| 30,540 30,540 0
02 22 Xl 30,540 30,540 0
OXN &= 250,000& x1H x12& 3,000
o7z 140,000& x2H «12& 3,360
O X & At 155,000 x13H »12& 24,180
Al (SYIISHE) 78.776 84,776 6,000
2dHl(sgJI=4dH) 78,776 84,776 A 6,000
201 Yere2 | 51,016 57,016 6,000
01 At 22l 16,016 22,016 A 6,000
OBt~ 10,640
O= &l 5,376
02 8322l 35,000 35,000 0
03323 % HA 35,000
202 o4dl 21,120 21,120 0
01 =2LHAOYI 21,120 21,120 0
OJ12dEF8A 21,120
203 YR =&t 4,840 4,840 0
02 33 H 2= 640 640 0
©J| 2= (1008 Nt XI) 640
04 FN2ELSZ=TH| 4,200 4,200 0
ORAN2EIRFEHI 350,000& »12& 4,200
204 MR=HAH| 1,800 1,800 0
01 HESHPH A 1,800 1,800 0
OX &2 150,000 x1H 128 1,800
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